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Alpha Numeric Symbol Series Questions for SBI Clerk Pre, IBPS
Clerk Pre, SBI PO Pre, IBPS PO Pre and IBPS RRB Exams.

Alpha Numeric Symbol Series Set 9

Directions: These questions are based on the following arrangement of
letters/numbers/symbols. Study them carefully and answer the questions given beside.

S5HB3%TIL4A4SE6F1IRM@A#BD28U&C
1. If all the numbers, vowels and the symbol ‘& are removed from the above
arrangement, which of the following will be the eighth element from the left end?

A. L B.@ C.M D.R E. None of these

2.  Which of the following is the fifth to the right of eighth element to the left of the
thirteenth element from the left end?

A.B B.T C.A D.S E. None of these

3. How many such numbers are there in the above arrangement each of which is
immediately followed by a symbol and also immediately preceded by a letter?

A. One B. Two C. Three D. Four E. None of these

4, If first five and the last five elements are written in reverse order, how many symbols
are there that will be immediately followed by a letter?

A. Only one B. Two C. Three D. Four E. None of these

5. Four of the five are alike in a certain way based on their positions in the above
arrangement and hence form a group. Find out the one that does not belong to that group?

A.35 B.4T C.64 D. RA E. 8B

Correct Answers:




Explanations:

1. If we remove the numbers, vowels and the symbol ‘&’ from the above arrangement, the arrangement
will be like:

HB%TLSFRM®@#BDC
Clearly, ‘R is the eighth element from the left end.

Option D is hence the correct answer.

2. The 13" element from the leftend = F
The resultant direction = 8" to the left - 5" to the right = 3“ to the left = $

Option D is hence the correct answer.

3. S5HB3%TILASEG6F1IRM@A#BD28U&C
Clearly, only 1 such permutation exists.

Option A is hence the correct answer.

4, %3BHS5TILASE6F1IRM@A#BDC&US8?2
Clearly, 5 such permutations exist.

Option E is hence the correct answer.

o. S5SHB3%TILASEGF1IRM@A#BD28U&C

In all the permutations except given as option D, the second element is 3 steps left to the first element.
In option D, the second element is 3 steps right to the first element.

Option D is hence the correct answer.
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